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Our equations of motion for
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_The rotational dynamics in 3D are more complex
,

and are not decoupled in this way .pkf@Planar case :
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^L 0 is the rotation about E- axis
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horizontal force
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CI ) Find : maximum allowable

force F if there
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gravity acts as

•  → Ft though it's a single
TN fore at c Fm
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= 0 a no vertical motion
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Since we are in a no slip scenario :
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At wax force ; ie
.

, any bigger force would cause slip .

lF+l=µ1N1=µmy
Substituting we get ¥ma× Fmmg
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#) Suppose we apply double the wax force
.

Find ii & it
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solution : Ft = µ my
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it's maextremited .
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Chefs Rigid body in gravity
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total moment about c of m
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Effect of gravity on EOM Is the same
a single .

as lettiy thetotal force act at the cofm
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